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~ M.Sc. (CBCS) DEGREE EXAMINATION, APRIL 2017.

Second Semester
: Chemistry ‘
INORGANIC CHEMISTRY — II
(For those who joined in July 2016 onwards)

Time : Three hours Maximum : 75 marks

' PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1.  The oxide which adopts normal spinel structure is

(@) Cos04 k) WesO4

(©) NiAIzO4 ! (d) None of the. above
2. The complex ion developing the highest CFSE is

(@ [Co(NHael* = ()  [Rh(NHs)e]*

© [r(NHg6**  (d) [Co(NHs)e**

[PtCls]?% on treatment with NHs give a product of
composition [PtCla(NHs)2]. It is a :

(a) Trans-isomer

(bj . Cis-isomer

() Both (a) and(b)
(d) None of the above

Which of the following complexes is expected to be
labile to ligand substitution reaction?

(@ [r(NHg)gJ* ®) [Mo(NH)el*

©  [Nifen)s* (@) [Co(NO2g]>

Calculate the magnetic moment for K4[Mn(CN)e]

@) 1.7 i) 1.2
(@15 @ 1.9

‘The M-L charge transfer energies decrease as .

(@) The ligand becomes more reducible in nature
() The ligand becomes less reducible in nature

(©) The ligand becomes normally reducible in
~ nature ; :

(d) None of the above :
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